LA (
HW N1 dabef, ddef 5 )

£ Ho? /,L'f de

H.

Jf)J,l-} ﬁ,_“”/ 4 4 4 ()2 g /Oﬂpwn‘)we 4}/4;)
/4&5 07 7

b)qt g L!c/ Lf ?(W%/L/() 7]’ /Wl FOSf}IVe/mﬂﬁﬂM?—M‘r)

I_ | .\/7) +(I) \/:2_ ?‘ 5{5{_(/-1‘[)’:_ '/JAW )(1’67 W'&'(,ZJI

F —————ee—

[ ela) VG =T 4 aro(3-0:) = -7 (a0 %, ~y
7 oy

O-f'csm O)- ZQ + 0i) z

Cﬁg(%-l‘cﬂn(_ﬂ;)) \@(' ﬁ\E) -'

f'\V\

Scanned with CamScanner



»

_ﬁ*ﬁ_s;)kc;@ (-2, 203 )

[“2r 2 ol N V=g

m{wj/'&w@) 27 (-0 ,203) when vidd g

S ayeticlof )

A Huser]
] 3 |

W kieh s The épm\:f af_%z

Jg) (222 [=004) =5

arg/‘g/)fwg(?,\ +}=i1 + T =47 +35 = Fp = -57

' 3 @ b '@ e 5 &
A gC/f‘S/"EZZ)J (4 mus? be bepieer
L0 / = T Aned =
(¢ Feis/-57 - ¢ Bl f— I~
‘ cfs/ (pz[y\ > c?(/ws(/%zz) +isiny ij/)/)
268/-V2 -4:) > |-Nz-4i | ®
e ——— AT -
I a.)l|z+di]=2]) 4—;%}? by N
Ml e Y NN i/
Evplanshsn : |Z]= fgvr\eg ( & K
e Z TV of a cicddr {4
abhnd Mo ongin wih eolas \\j
0 bor lf a4(2). Sineris ticle o[
has g cnter ot (0,-2) and Ghs
24vshon of a cinke

15 (X-)?+(y-b)

with corsder (q.,b) 8765
=r* we A

CoNvert -2 ‘f@_%ﬁ‘u?f Live we swilch

)

i v

'/ﬂ/\-M‘/\ as ﬁ(/]"pfvg,

Hee Signs  of )(:__in#ac%ph when W.ﬂﬁ%___

[ b)i) Connect e corder of —flo cirele “’;_p ornf @:]ﬁﬁf:___@)

Iabel o poind

|

PP TP P P PP PPPPPPPOPPPPRED O

2t (0,-0) @ ,en we know (L= cund

OB H. = usimg
d

pyrthagorean —fheors (2)%4(Qp)2= (4)*

L QPN - =2 AT

A

Scanned with CamScanner



0P=\ Zb?{(%)"’*d (W)a05)as 000

%) (log OQP 3. = \F
_____ il

= \/W 36 =12 {25]

=1/86+/2 =2 Lf\/’/r)

(i) g (w /'// OFPG is Jsosceles mbe//ﬂ/o/",@lﬂ/ nd
)%J ﬁ%ﬁm caoP/ 60@/0)5 ‘

—— Cus ~ l/’ SIAungiwajf_ﬂ‘__ /S ___vf?:
7 s
o ar(w)= =1 +_7z: - 147 = ’JTEE

P 2 G ¢ ¢ 3

; -l'tf;') Hence wote 2D in —fle form a+bé

D?Fc:s/l)_—? a?\/_—(;(ﬂﬁ) tesing/~ )

?QC(% —*g)l? V3 -3: |

){‘&5( 6))(020{5 L_) o’N"ols(l +//n~) T

= N3 as(u) =AU/

70?\//(603(_1) _f_(_s,,q{JJJ 39{(,! +\!§'¢)7 t\D’-hBi

h)w} -—CAS(?T__?L’?C/,‘/ZJ 97 \
R

Scanned with CamScanner



L))

/) f ois

|\

Aeis /T —3r | = deis /L) = o?w(/fz/)

(2 1) { %2/

=ws/r) Hliive, |

s iﬂ-’r { / =3 ,——-""——' .
ot S T = 97/005/:1\+('5in/~l\) -a2/0 ] =g /
N 20 U2/ { é-// \ Lo _J
Je-) &isq/7 3[4 L Cis 30t = Gs(30w ‘7 )
! 3 g ] ¥ |
0]
="

MW IR

Scanned with CamScanner



